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(2)  Which of the following bank prints currency ?
(A) Bank of India
(B) Punjab National Bank
(C) State Bank of India.
(D) Reserve Bank of India

(3) In which year RBI was established ?
(A) 1935 (B) 1947
(C) 1949 (D) 1961

(4) An institution which works as a central
bank in India ?
A S. B L B U T L
(C©) R. B L D) B. 0. B

9 (A) Explain the theory of demographic transition 14

with respect to Indian Economy.

OR
2  (A) Write short notes :
(1) The effect of population growth on 7
Indian Economic Development.
(2) The causes of population explosion in 7
India.
OR

2 (B) Choose the correct option from the following 3

(1) Who first drew the world's attention to the
population problem ?
(A) Malthus (B) Colin Clark
(C) Keynes (D) Adam Smith
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g (3 Who do management of the control
agricultural product markets ?

(A GUJCOMASOLI, (B) GROFED
(C) NAFED M) A P. M C.

(4 The main reason for having small farming
component in India is

(A) Government rules
(B) Population growth
(C) Economic Policy

(D) Government subsidy

4 (A) Explain the importance of Small scale 14

Industry in India and Discuss the Problems
of small scale industries in Indian Economy.

OR
4 (A) Write a short notes :
(1) Role of Public Sectors in Indian 7
Economy.
(2) Importance and limitation of Special 7

Economic Zone (SKZ)

4 (B) Choose the correct option from the following. 3

(1) In which year National Small Industrial
Corporation was established ?

(A) 19561 (B) 1954
(C) 1955 (D) 19566
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(2)  Which industries are important related to the

development for rural sector ?
(A) Agro based industry
(B) Large scale industry

(C) Multinational companies
(D) Small scale industry.

(3) What is said about criticism of public enterprise
in India ?
(A) Hungry Wolf (B) White Elephant
(C) Wild Animal (D) Wild Horse

JD-261] .
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1 (A) (1) Give meaning of financial management 7
and discuss managerial finance functions.
(2) What is capital structure ? Explain 7
features of an ideal capital structure.
OR
(A) (1) Modern approach of financial function 7

1s much wider than traditional approach.
Explain the statement.

(2) Dhruv Company wants to purchase a 7

new machine. The following three
alternatives are available for raising the
required amount of Rs. 8,00,000.

(i) It can issue 80,000 equity shares
of Rs. 10 each.

(i) It can issue 40,000 equity shares
of Rs. 10 each and 10%, 4,000
debentures of Rs. 100 each.
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(1) It can issue 40,000 equity shares
of Rs. 10 each; 2,000, 10%
debentures of Rs. 100 each and
2,000, 10% preference shares of
Rs. 100 each.

If the earning before interest and taxes
1s Rs. 64,000, then what will be the
earning per share ? Assume rate of taxes

as 50%.
(B) Give only eight limitations of trading on 4
equity.
2 (A (1) Explain the meaning and types of S |

working capital.
(2) Cost of capital plays very important 7

role in financial management. Discuss
this statement.

OR
(A) (1) Explain sources of working capital. 7
2 @O A compnay has issued 10% 3

debentures of Rs. 10,00,000. The
debentures are to be repaid aftey
10 years. These debentures are
floated at their face value. But the
cost of floatation comes to 4 percent,

If tax rate is 55%, then calculate
the cost of debt,

JD-26
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(11) Devanshi Limited issued 1,000, 4

11% redeemable preference shares
of Rs. 100 each at a discount of 5%.
The cost of share issue amounted
to Rs. 3,000. There shares are to
be redeemed at par after 10 years.

Find out the cost of capital of preference
shares.

(B) Give only eight characteristics of working 4
capital.
3 (A) (1) Explain the advantages of stable 7
dividend policy.
(2) Give meaning of capital budget and 7
discuss its objectives.
OR
(A) (1) Discuss - Guiding principles of devidend 7

policy.

(2) Jayraj limited is planning to purchase 7
a2 machine. Two machines are under
consideration. The details about both
the machines their costs and sales are

as follows.
Particulars Machine-A | Machine-B
Cost of Machine 1,50,000 1,50,000
Sales 2,50,000 2,00,000
Cost_of Sales
Direct Labour 25,000 15,000
Direct Materials 20,000 25,000
Factory overheads 30,000 25,000
Office costs 10,000 5,000
Selling and
distribution cost 5,000 5,000
JD-262] 6 [Contd...
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The expected serviceable life of machine
A is 2 years and B is 3 years. Sales are
expected to continue at the above rates
for the full serviceable life of machine.
The cost of stated above relate to the
annual expenditure to be incurred as a
result of machines. The amount of tax
to be paid is 50% of net earnings.
Depreciation 1s calculated on straight
line method.

On the basis of above data you are
required to show the most profitable
investment applying the following
approaches :

(A) Pay-back method.
(B) Return on Investment method.
(Average rate of return method)
Give six important points of importance of 3
dividend.

(1) Describe utility of stock market to 1
different parties. _
(2) Explain types of transactions. 7
OR
(1) What is stock market ? Explain its 7

economic functions.
(2) Explain the benefits of listing of securities. 7
Give only three points of similarity between 3
speculation and gambling.
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Instructions :
(1) Figures to the right indicate marks.
(2) Indicate your options clearly.

1  Read the following stock exchange report carefully
and answer the questions given below it.

Equities Bounce Back on Lyons Range

Equity prices bounced back on the local share market today
recording handsome gains on unabated support from
financial institutions, announcement of the new export policy
by the BJP government and persistent inquiries. The
operators conveniently ignored the discouraging advices
from upcountry exchanges. Thanks to the large scale support.
the unnerving bear hammering and unabated long liquidation.
which had gripped the market during the few days, seemed
to have been effectively arrested.

Tata Motors recovered from Rs. 425 to 448 on heavy
institutional support before finishing at Rs 440 gaining Rs
15. Tata Steel also moved up to Rs. 1341 on speculative
support, reacting thereafter on profit taking to close at Rs.
1310 with a small gain of Rs.10. Century, from Rs. 6110.
rose sharply to Rs. 6125 on fresh support before setting at
Rs. 6118. In kerb deal, trading activity was negligible and
remained restricted to some deals in Tata Motors. The cash
section too, displayed a positive outlook.

JD-263] | 1 © [Contd..



Questions :

(1)  Which trend is suggested by the headline ? 4
Point out the word suggesting the trend.

(2)  Which stock exchange is referred in the report ?

(3)  What type of report is this ? Quote the word )
indicating the type of report.

(4) Find out any two factors responsible for the 4
present trend. |

(5) Find out the previous closing rates of Tata Steel 2
and Century. , | :

(6) Find out from the report any three words or 3
phrases connected with the prevailing trend.

W o

2 Write a detailed note on the iml:;ortance of English 17

for business today.
| | - OR
Explain the meaning of commercial English and 17

discuss its main characteristics.

(A) Draft a tender notice on behalf of Montage 9
Laboratories Pvt.L.td, Ahmedabad inviting tenders
for the purchase of different furniture items.

OR

(A) Draft a tender notice on behalf of Sabar Dairy, 9
Himmatnagar inviting tenders for the purchase
of dairy equipment like milk processing plant,
freezer and packing plant.

(8

(B) Draft an auction notice on behalf of Forest 9
Depaitment, Gujarat State Calling bids for the
sale of Teak/Non Teak Timber and Fuel Wood.
OR

JD-263]
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(B)Y  Draft a public notice for auction of propertics at 9
Central Bank of India, Memnagar Branch,
Ahmedabad.

4 (A) Explam any Four of the following Stock 8
Exchange terms :
(1) Liquidity Crisis
(2) IPO
(3) IRDA
(4)  Premium
(5) Roll over
(6) Repo rate

(B) Rewrite the following sentences choosing the 9
correct option :
(1) means the volume of shares traded
on a stock Exchange.
(A) Roll over (B) Future Trading
(C) Turn over (D) Repo rate

(2) _ is an intermediate party between the
borrower and the lender.
(A) Broker (B) Bankers
(C) Speculator (D) Jobber

(3) s an individual who provides the

service of buying or selling the stock and
charges fee or commission.

(A) Broker (B) Bankers
(C) Speculator (D) Jobber
4 ~means shooting up of prices or a
sudden rise in the prices ol stocks.
(A) Inflation (B) Spurt
(C) Nose-dive (D) DBull support
1D-263] 3 [Contd...



(5) A persistent increase in the level of
consumer prices for goods and services or
a persistent decrease in the purchasing
power of money is known as
(A) Deflation
(B) Inflation
(C) Bull-liquidation
(D) Liquidity Crisis

(6) ~ means sudden and rapid dechne in
the prices of stocks.
(A) Inflation (B) Spurt

(C) Nose-dive (D) Bull support
(7) Active buying by bull operators is called

(A) Bull unloading
(B) Bull liquidation
(C) Bull support
(D) Bear Hammering

(8) Specific number of shares offered by a
company to its existing shareholders in
proportion to their holding is knownas

(A) Right Issue

(B) Bonus Shares

(C) Preference shares

(D) Equity shares
(9) ULIPS means

(A) United Link Insurance Pohcy

(B) Unit Linked Insurance Policy Security

(C) Unit Linked Insurance Policies

(D) Unit Linked Insurance Policies

Security
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©
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®
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ENGLISH VERSION

of tha questions.
(2) Simple calculator may be used.

Obtain equation of a straight line joining
two points A(x;, y;) and B (x5, yg)-
Find slope and both intercepts of a straight
line 4x + 3y + 2 =0
Prove that two lines 4x + 3y + 2 = 0 and
9x — 12y + 11 = 0 are perpendicular to each
other.

OR
Obtain equation of a straight line having
slope m and passing through point (X1, ¥1)-
x intercept of a straight line is three times
of its y intercept and it passes through point
(3, 2). Obtain its equation.
Obtain equation of straight line joining
points (2, 5) and (3, -1)
Answer in brief :
(1) State condition for two lines being

parallel.

(2) State slope of a line 2x — 3y + 5 = 0.
(3) State equation of a straight line haviug
slope ‘m’ and y intercept ‘C’ units.

(4) State y intercept of equation
3x+2yﬁ7:0.

Explain Partial Derivation and Utility

Function. _ |
If 7 = 2x3 + 3 xly — 4xy* — 3y°, then

92z 02z 5%z 02z

find =527 52" adly” Gy

5 [Contd...
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function of a
qdx + 2y = 12
h that utility

()]
T

tion and Budget
d x and v suc

() Utility func
consumer 18
respectively. Fin

becomes maximuim.
OR.

2 (a) Esxplain Homogeneous fanction and 4
Euler's theorem. | .
G Iffx y) = 352 — 28y T 4y2, then using 5
of & 2 fixy
Euler's theorem prove that *3; Y oy =2- 7%y
(¢) Production cost and production function 5
of a commodity 18 C =3 + 2y and xy = 600
respectively. Find x and ¥ such that cost
become minimum.
4+

(d) Answer 10 brief :

_ 0z
(1) Find 7 for function Z = 3x* — ox2y2 + yt. 4

(2) How many exponent is for homogeneous
fanction 28 — xZy + y° ?

(3) Quantity of two commodities is x and .
Tts unit price is Rs. 4 and Rs. 10
respectively. Total income of consumer 18
Rs. 200. State budget equation.

(4) State one use of partial derivation.

3 (a) State the m ' ‘
) | | ethods to flpd trend of time 7
| ser.1es and explain moving average method
() Using 4 year moving average, find trend 7
and short time fluctuations. 4
Year :EOUG 20011-2()02 m?ﬁ 2004 | 2005 | 2006 | 2007 | 2008 | 2
__Indcx 153 | 164 | 204 | 169 | 161 | 172 | 219 | 176 ~168 T:LQ o 20
ainilll MRl S 221 | 184
JD o
-264]
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(b)
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Explain components of time series.

Find seasonal fluctuations for following time 7
series :
Season | Winter | Summer | Monsoon
Year Q Q, Q,
2008 35 30 20
2009 50 44 35
2010 60 55 48
Answer in brief : 3
(1) Give an illustration of decreasing trend.
(2) Give definition of time series.
(3) What is the period for seasonal
fluctuation and cyclical fluctuation ?
7

State steps (process) for decision principle

and explain Expected Monetary Value (EMV).
Probability distribution of a newspaper
vendor for selling particular magazine is as
follows. How many magazines he should order
if cost of each copy is Rs. 15 and selling price
95 2 He can’t return unsold copies.

.

is Rs.

Nb. of selling
Magaines
Probability

20 | 25

0.30 | 0.35

OR

ts of Decision making. 7

Explain componen
ff matrix determine best 7

For following pay-0
strategy according to

() Maxi-Min
[Contd...



(1) Mixi-max
(1i1) Laplace and

(iv) Horwitch (o = 0.4) principle.

Event Strategy

A, | Ay Ag Ay
St 5 36 15 26
S, 15 7 25 23
Ss 25 15 30 11
S, 35 25 10 17

(c) Answer in brief :

(1) For one data Max EMV is 378 and EVPI

is 14, find EPPIL

(2) State formula to calculate return of
strategy according to Horwitch principle..
(3) Which type of approach is Maxi-Min

principle ?

1 7860 / 262 ]



OO 0 0 00 0

JD—265—N Seat No.

B. Com. (Sem. VI) Examination

Time 2% Hours ] [ Total Marks :

1 () 2R 4yl w3y huvbﬂ Sl 924\ dslad wuond)

May - 2022
Business Law - I1

Yql

() Wil sS4l sud oz éyeq) ol A3 B ? Gelglw
A ).

(o) Asf@s yae) :

(1)

(2)

(3)

JD-265-N ]

Sl yoy) adls Ay .
(A) AR Qe

(B) dluiser

(C) R

(D) AAsypl ¢

el siyele) AUlsded QX
29 8,

(A)  An[H2AM/A

(B) [MaMq

(C) GuAsd 6

(D) 54w ]

Sl 2ial AfFi B, ) 43| ull
34 Aelldl ),

(A) A [, DAMq

B) A [&. dlyi+

(©C) &=a . ANedq

(D) A Rl Wosw

—

70

14

1 [ Contd...



I & & (5 (B RIRES 5 3.
(A)  Su-l

(B)  IB4AIM4S

(C) AN 28 SENEERE]

(D) A5yl A4l

(4)

5 (w) slwdidl WA, 1048 ds0 sMeld-AL aied wedl 14

Raq O] AxNdl.
»2ql

() sireietill ¥, inell Ay e (wrainy) Hiedl
(alaw saxi-l 2l s

(o) dsl@s ual )
(1) el 3dl ady 2Damiu 8.
(A) 31
(B) -
(C) A4
(D) 2548l ¢l
2) DAl egMd Arll gl sl w8,
(A) sudll Almidd sAd
(B) ol oila o=dl §ld d W@
(C) o~ AL B
(D) o~ ulel 8
alliseai geat seadl sudll ddil
Y
(A)  qauls
(B)  »adll-s
(C)  dlesldedr
(D) syl €l

JD-265-N | 2 | Contd...



3 (a) edPis Qaedl oy yyomd) o

wQ|1d) .

UA¥Ma) .

{1 A8 (R 5cq) )

»Yq|

a-»ls ¥ed g ? A-21541 QA2 I 91209

(o) dsl@s wsq) -
(1) A APy ds13 4o

(A)
(B)

(C)
(D)

M5 92 qs32

MRS 27 514e12 928 qs
SIMEIRL A Sl 92 ds
HUSL 2 514813 92 dsar

() eDPis asRHL s oy Gy 87

(A)
(B)
©)
(D)
(3) R
(A)
(B)
(C)
(D)

AHlelPis 9ify

AU s il

wylael YRl

5IME1R SR

seldd-l sidl 3dl usirAL ) ?
SIUIE

A4 5

STUEE

MY LU s

(4)  »lEll1s dsuel siuel 1A qeeuusl SIME1R
W sHele 7

(A)
(B)
(C)
(D)

JD-265-N |

]
-l
«ilus el
Allus |

14

3 | Contd...



4 (3) vl L @A) CGaute WEAL” w ol 14
UHAL” AHANAl.

» Y4l

() SRMIAL 9D - 1948+ yva AT A4A4).

(o) Qsl@s uad) : 3

(1)

)

(3)

JD-265-N |

35280 ysaumi wuadl DA &8 ewl didl
RS-

A wAs sunal

(B) xudl

(C)

(D) -2

352l Bdas) Frwggs o 2 7
(A) UM YR

(B) GRd usR

(C) 3 ¥R

(D) [geal il

sHeAA 855 N Add Al wqeel
P

A) Alas
(B) HYR »leldd
(C) MAas
(D) slMelR UM

4 [ Contd...



\

ENGLISH VERSION

1 (a) Distinguish between public company and
‘ private company. Explain.

OR

(@) When private company can become public
company ? Explain with illustrations.

(b) Multiple Choice Questions :

(1)

(2)

(3)

4)

JD-265-N ]

Member of company are known as

(A)
(B)
(©)
(D)

Shareholders
Director
Partner

None of above

Company has personality as per

law.
(A)
B
(®)
(D)

Incorporate
Corporate
Both of above
None of above

Company has different personality.
is famous case regarding it.

(A)
(B)
©
D)

Soloman V/s Soloman
Jones V/s Lipman

Handle V/s Edleman
Sir Dinsha Manekji

'is backbone of company.

(A)
(B)
(©)
D)

Company

Promoter

Memorandum of Association
None of above

14
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2 (@)  Explain provisions relating to health of i 4
workers under [Factory Act, 1948.
OR
(@)  Discuss the process of approval, li(:fans.ipg,
and registration of factory in details with
relevant sections.
(b)  Multiple Choice Questions 3
(1) Capital of Company is known as
(A) Cash
(B) Loan
(C) Capital of Share
(D) None
(2) How the Jurisdiction of the court can be
decided ?
(A) By registered office of company
(B) Where the incident look place
(C) Both are right
(D) Both are wrong
(3) Alterations in Articles of Company is
(A) Statutory
(B) Non statutory
(C) Unlawful
(D) None of above
3 (a) Definition of Industrial Dispute and 1ts 14

characteristics.
OR
(a) What is Lay-off ? What ig criterion for
compensation of Lay-off ?

JD-265-N ] 6 [ Contd...



v Multiple Choice Questions :

(1)

2)

(3)

(4)

JD-265-N ]

It 1s not industrial dispute :
(A) Dispute between employers

(B) Dispute between employer and
worker

(C) Dispute between workers and
workers

(D) Dispute between employers and
workers

What are the aim of I.D. Act ?

(A) Industrial Peace

(B) Social Peace

(C) Environment Safety

(D) Welfare of worker

Which typé of function are labour court ?
(A) Judicial

(B) Non dJudicial

(C) Administrative

(D) Professions

Is apprentice worker as per I.D. Act ?
(A) Yes

(B) No

(C) Partly true

(D) Partly false

' ctory Act 14
t e Fﬁif&?a;?ﬁfggth;r(iiss” yand “Hazardous
Process’ .
OR
(a) Explain the main provision of Factory Act,
1948.
[ Contd...



(b) Multiple Choice Questions : 4
(1) In which language notice should be
published in the factory ?

(A) Local Language
(B) Gujarati
(C) English
(D) Hindi
(2) Who appoints the Factory Inspector ?
(A) State Government
(B) Appropriate Government
(C) Central Government
(D) District Judge

(3) Who is liable to give earned leave to the
worker ?

(A) Employer ‘
(B) Labour Court | ]
(C) Inspector

(D) Trade Court

e ——
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Instruction :

ENGLISH VERSION

igures to the right indicate marks for respective questions.

1 (A) The following is the standard mix of production of

Product-P :
Materials | Kgs. | Price per kg (Rs.)
A - 10 10 -
B 6 8
C 4 8

- 14

The standard loss is 10% of units introduced. Actual
production is 3,600 kgs. The actual consumption and
cost of material used is as under :

Materials | Kgs. | Price per kg (Rs.):
A 2200 12
B 1600 '
I —
C 600

Calculate the following variances :

(1)
®

®)
@

1 &

JD-266 ]

Material cost variance

Material price variance
Material mix yariance

Material yield yariance

OR
Standard labour hours and rate of produc
Article-R 18 given below :
/

' Per unit | Rate per Hour | Total
Workers (Hours) Rs) (Rs)
Skilled 8 ___,E)#__,__ 80

j 8 48
Unskilled 6 | 8
oomiskilled 6 24
9

14
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®B)
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Actual Performance : Actual production 10,000 units.

Workers Hours faie pet Hour Total
(Rs.) (Rs.)
Skilled 90,000 8 7,20,000
Unskilled | 51,000 10 5,10,000
| Semi-skilled | 30,000 5 1.50,000

Calculate the following variances :
(1) Labour cost variance

(2) Labour rate variance

(3) Labour efficiency variance

(4) Labour mix variance

In the following questions select correct answer :

(1) The efficiency variance is also knowﬁ as :
(A) Spending variance
(B) Budget variance
(C) Rate variance

(D) Quantity variance

(2) Which is the advantage of standard costing from

the following ?

(A) Management of Exception

(B) Cooperation and Coordination
(C) Useful for tenders |

(D) All of the above

3

Standard hours 5000, standard rate per hour
Rs. 10, actual hours 4500, actual rate per hour
Rs. 12, and idle time is 100 hours. Find out idle
time variance.

(A) Rs. 2,800 (B) Rs. 1,000
(C) Rs. 4,000 (D) Rs. 4,800

10 [ Contd...



(4) The purchase department manager is usually held
accountable for the :

(A) Material usage variance
(B) Material price variance

(C) Labour rate variance

(D) None of

the above

2 (A) Jay company is considering to purchase a machine. 14
There are two machines available X and Y. The cost
is Rs. 7,50,000. The estimated life of each machine is
5 years. The scrap value is zero. The rate of tax is
50%. The company’s required rate of return is 12%.
The straight line method is used by the company to
provide depreciations. The expected earning before
depreciation and taxes for two machines are as follows :.

Machine-X | Machine-Y
Years 1
(Rs)) (Rs.)

1 4,50,000 3,60,000
2 3.00,000 | 3,90,000 -
3 5,25,000 3,00,000
4 3,60,000 2.40,000
5 3,00,000 1,80,000

Select the most profitable machine by following method :

(1) Pay Back Method

2) ‘Average rate of return

(3) Net Present Value

The present value factors of Re. 1 at 12% discount are as follows :

-0.89'3, 0.797, 0.712, 0.636, 0.567

JD-266 ]

OR

11
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2 (A Hardi Co. is considering the purchase of new machine 14
which will carry out some operations performed by

labour.

There are two options available : Machine ‘A’ and
Machine ‘B’. From the following information you are
required to prepare profitability statement and work out
the pay-back period in respect of each machine and
return on original investment in respect of each plant :

Particulars Machine-A | Machine-B

Estimate life of machine 5 years 6 years

Cost of Machine Rs. 6,00,000 | Rs. 9,00,000

Cost of Indirect Materials Rs. 24,000 Rs. 32,000

Estimated savings in Scrap Rs. 50,000 | - Rs. 70,000

Additional cost of maintenance | Rs. 76,000 | Rs. 1,08,000 |

Estimated savings in

indirect wages :

No. of employees not required 300 400
Rs. 1,000 Rs. 1,000

Wages per employee

Taxation is to be regarded at 50% of profit. Which
machine would you recommend ? State your reasons in

detail.

®B)

Select the correct answers :

(1) Which of the following considered a project’s

profitability ?

(A) Pay Back Period

B)

Average rate of return

(C) Discounted Cash Flow

®)

- JD-266 ] | 12

None of this above

[ Contd...



(2)  Which of the following is not a percentage ?
(A) Net Present Value
(B) Accounting rate of return
(C) Internal rate of return

(D) None of this above

(3) Calculate payback pén’od :
Capital Investment | .... Rs. 2,50,000
Profit after 10% depreciation ....... Rs. 50,000
Tax rate = sesisectassssan 50%
(A) 5 years - (B) 4 years
(C) 10 years D) 20 years

3 (A) Give answer the following : 14

(1) Sanvi wants to invest Rs. 10,000 for 5 years.
(a) She may invest the amount at 12% per annum
compound interest accruing at the end of each

quarter of the year. o

() She mays invest it at 13% per annum
compound interest accruing at the end of
each year.

Which investment will give him better return ?

() Sachi invests Rs. 10,000 each year starting from
the beginning of year 2017 to the beginning of year
2021, what is the amount she is likely to receive
at the end of year 2021 ? The rate of interest given

is 8% p.a.
Determine the rate of interest for sum of money

to become 1.5625 time itself in 2 years, if the rate
of interest is to be compounded annually.

OR

3)

13 [ Contd...
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3 (A) Answer the following :

(1)

@)

Explain the concept of compounding and

discounting in brief.

Briefly explain the concept of time value

of money.

(B) Select the correct answers

JD-266 |

ey

@)

6))

4

Compound interest is calculated on
(A) Principal amount only

(B) Interest amount

(C) Time value of money

(D) None of these

The annuity of an investment for a specified time
any at given rate of interest is called

(A) Capital Recovery Factor

(B) Present Value of an Annuity
(C) Present value of a Perpetuity
(D) None of these '

Compute the present value of a perpetuity of
Rs. 10,000 per year, if the discount rate is 10%.
(A) Rs. 1,000 B) Rs. 1,00,000

() Rs. 10,000 ©) Rs. 10,00,000

Both the future and present value of a sum of
money are based on :

(A) Interest rate

(B) Time period

(C) Both (A) and (B)
(D) None of these

14 [ Contd...
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4 A
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(1) Calculate the Gearing Adjustment required under 10
CCA method from the following information :
Particulars 1-4-2021 31-12-2021
®Rs) | (Rs)
Paid up share capital 7,50,000 12,00,000
Reserves 3,00,000 2,25,000
10% Debentures 3,00,000 3,00,000
Bank Overdraft 1,50,000 3,00,000
Provision for Taxation 4,50,000 4,80,000
Cash Balance | 1,50,000 1,80,000
Current Cost Adjustments :
(1) Depreciation Adjustment | Rs. 75,000
@) Cost of Sales Adjustment Rs. 45,000
(3) Monetary Working Capital
Adjustment , . Rs. 30,000
- 1,50,000
(2) Explain the advantages of Current Cost 4
Accounﬁng.
OR
(1) Explain in detail limitations of Inflation 4
Accounting.
(2) Dhruv Ltd. furnished the following Profit and 10
' Loss Account for year ending 318t December, 2021.
Particulars Rs. Rs.
Sales 5,00,000
Less : Cost of goods sold :
Opening Stock 50,000
+ Purchase 2,50,000
3,00,000
Less : Closing Stock 30,000 2,70,000
Gross Profit 2,30,000
15 [ Contd...




Less :

(1) Administrative Expense | 50,000

(2) Selling Expenses 30,000

(3)  Depreciation on Machine | 10,000

(4) Debenture Interest 5,000 95,000
Net Profit 1,35,000

Additional Information :
(1) Interest and Dividend are paid on 315t December.
(2) Machine was pﬁrchased when index was 60.
(3) General price level index -
1-1-2021 240
31-12-2021 360
Average during the yeai' 300

From the above information, prepare the statement of
Income under current purchasing power method.

(B) Select the correct answer : 3

(1) Which items are includes in monetary items from
the following ?

(A) Debtors (B) Machinery
(C) Closing Stock (D) None of the above

(2)  Which of the following statements is not correct ?
(A) Overdraft is monetary liabilities
B) Debenture is monetary liabilities

(C) Bills receivable is not monetary assets

(D) All are correct

3) Full form of CPP is ...........
(A) Current Power Purchasing
(B) Current Purchasing Power

(C) Cost Purchasing Power
(D) None of the above

JD-266 ] | 16 [ 7860/262 ]
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